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Roll No. ....................................

BA-10 (Bachelor of Arts) Political Science
Third Year Examination-2015

PS- 06
Contemporary International Relation

( l el kef; d  v Ur j kZ"Vªh;  l EcU/ )
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ; g i z' u&i =k l kB (60) vadksa dk gS t ks rhu (03) [ kaMksa d ] [ k rFkk
x esa foHkkft r  gSA i zR; sd [ k. M esa fn,  x,  foLr r̀  funsZ' kksa ds
vuql kj  gh i z' uksa dks gy d j uk gSA

Section - A @ [ k. M&d

(Long Answer Type Questions)@( nh?kZ mÙkj ksa okys i z' u)
Note : Section 'A' contains four (04) long-answer-type

questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [ k. M d̂ * esa pkj  (04) nh?kZ mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  i Uæg vad fu/ kZfj r  gSa A f' k{kkfFkZ; ksa dks buesa l s
dsoy nks i z' uksa ds mÙkj  nsus gSa A
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1. Explain the cheif landmarks in Development of study in
international politics of 20th centuary.

ĉhl oha ' krkCnh esa vUrjkZ"Vªh;  jkt uhfr ds vè; ; u ds fodkl  esa eq[ ;
l hek fpUgksa dh O; k[ ; k dhft , \

2. "The friendship of India and Russia is in their actual
Direction". Plesse explain in reference to above statement
in relation to India and Russia from 1947 to Present time.

Hkkjr vkSj : l  dh fe=krk dl kSVh i j  [ kjh mrjh gSA bl  dFku ds l UnHkZ
esa Hkkjr vkSj : l  ds l EcU/  dks 1947 l s orZeku rd crkb, A

3. What is Foreign policy? Give the aim of foreign policy of
India.

fons' k uhfr D; k gS\  Hkkjr dh fons' k uhfr ds mís' ;  crkb, A
4. How the globalization has affected the hypothesis of

modern state? Describe it.

HkweaMyhdj.k us vk/ qfud jkT;  dh vo/ kj.kk dks dSl s i zHkkfor
fd; k gS\  o.kZu dhft , A

Section - B @ [ k. M&[ k

(Short Answer Type Questions) ( y?kq mÙkj ksa okys i z' u)
Note : Section 'B' contains eight (08) short-answer-type

questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [ k. M [̂ k* esa vkB (08) y?kq mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  i k¡p (05) vad fu/ kZfj r  gaS A f' k{kkfFkZ; ksa dks buesa
l s dsoy pkj  (04) i z' uksa ds mÙkj  nsus gSa A
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1. Explain the main reasons of Palestine Israel conflict.

fi QfyLrhu , oa bt jkby l a?k"kZ ds i zeq[ k dj.kksa dks Li "V dhft , A

2. Exmine the India-Pak relations after Kargil war 1999.

dkjfxy ; q¼ 1999 ds ckn Hkkjr&i kd l EcU/ kas dk i jh{k.k dhft , A

3. Evaluate the performance of the United Nations.

l a; qDr jk"Vª ds dk; Z fu"i knu dk ewY; kadu dhft , A

4. Write a short note on colonialism.

mi fuos' kokn i j  l af{kIr fVIi .kh fyf[ k, A

5. Distinguish between International Terrorism and cross-
border Terrorism.

vUrjkZ"Vªh;  vkradokn vkSj l hek i j vkradokn esa vUrj Li "V dhft ,A

6. Write a short note on "Newmoor Island Dispute.

U; wewj }hi  fookn i j  l af{kIr fVIi .kh fyf[ k, A

7. Which factor's were responsible for the origin of SAARC?
Describe.

nf{k.k , f' k; kbZ {ks=kh;  l g; ksx l axBu dh mRi fÙk fdu dkj.kksa l s
gqbZ\  mYys[ k dhft , A

8. What do you understand by Non Aligned Movement.

xqVfuj i s{k vkUnksyu l s vki  D; k l e>rs gSaA
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Section - C @ [ k. M&x

(Objective Type Questions) @ ( oLrqfu"B i z' u)

Note : Section 'C' contains ten (10) objective-type questions
of one (01) mark each. All the questions of this section
are compulsory. (10×1=10)

uksV %[ k. M x̂* esa nl  (10) oLrqfu"B i z' u fn; s x,  gSa] i zR; sd i z' u
ds fy,  , d  (01) vad fu/ kZfj r  gS A bl  [ k. M ds l Hkh i z' u
v fuok; Z gSa A

Write true/false against the following.

fuEufyf[ kr  ds l keus l R; @v l R;  fy f[ k; sA
1. SAARC was established in 1985. (True/False)

l kdZ dh LFkki uk 1985 esa gqbZ FkhA ( l R; @vl R; )
2. U.N.O. Headquarter is situated in Newyork. (True/False)

l a; qDr jk"Vª l a?k dk eq[ ; ky;  U; w; kdZ esa gSA ( l R; @vl R; )
3. The first summit of Non-Alignment countries held in 1961

at Belgrade. (True/False)

xqV fuj i s{k ns' kksa dk i gyk f' k[ kj l Eesyu 1961 esa csyxzsM esa gqvkA

( l R; @vl R; )
4. The writer of 'end of History' is Sammual Hantington.

(True/False)

b̂frgkl  dk vUr* ds j fp; rk l Seqvy gafVXVu gSaA( l R; @vl R; )
5. Warsaw Pact was done in 1970. (True/False)

okjl k i SDV 1970 eas gqvkA ( l R; @vl R; )
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Choose the correct alternative.

l gh fodYi  pqfu; sA
6. The Name of Country which play the role as a mediator in East

Asia peace Dialogue is :

(a) Japan

(b) America

(c) Russia

(d) India

i f' peh , f' k; k ' kkfUr okrkZvksa esa eè; LFk dh Hkwfedk vnk djus
okyk ns' k&

(v) t ki ku

(c) vesfjdk

( l ) : l

(n) Hkkjr
7. The Farakka problem is related to?

(a) India-China

(b) India-Bangladesh

(c) India-Srilanka

(d) India-Bhutan

i QjDdk l eL; k dk l aca/  fdl l s gSA

(v) Hkkjr&phu

(c) Hkkjr&cXykns' k
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( l ) Hkkjr&Jhyadk

(n) Hkkjr&HkwVku
8. The main charactor of foreign poticy of India is?

(a) Separation

(b) Non-Alignment

(c) Blood and Iron policy

(d) Military Alliance

Hkkjr dh fons' kuhfr dk i zeq[ k y{k.k gS&

(v) i kFkZD; dj.k

(c) xqV fuj i s{krk

( l ) ykSg vkoj.k uhfr

(n) l Sfud xBt ksM+
9. How many members are these in security council?

(a) 5

(b) 9

(c) 10

(d) 15

l qj{kk i j f"kn esa dqy fdrus l nL;  gSa\

(v ) 5

(c) 9

( l ) 10

(n) 15
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10. When U.S.S.R  was divided?

(a) 1989

(b) 1991

(c) 1990

(d) 1992

l ksfo; r l a?k dk foHkkt u dc gqvk\

(v ) 1989

(c) 1991

(l ) 1990

(n) 1992
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